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Q1. A bucket can contain 10 litres water. A mug can contain 1 litre 250ml water. 2 mugs full of  

        water are poured into the empty bucket. How much more water should be poured into  

        the bucket to make it full ? 

 

 

 

 

 

 

 

 

Q2. Find the area of a square of perimeter 124cm. 

 

 

 

 

 

 

 

 

 

Q3. Raju walks around a rectangular park of length 15cm and breadth 12m. Find the distance  

        covered by him after taking five rounds. 

 

 

 

 

 

 

 

Q4. Find :  12 litres 500ml – 26 litres 584ml + 30 litres 893ml. 

 

 

 

Q5. Find the cost of painting a rectangular wall of length 5m and breadth 2m at a rate of  



        Rs.25 per   . 

 

 

 

 

 

 

 

 

 

 

 

Q6. Find the number of square tiles of side 50cm needed for tiling a floor of length 500cm 

        And breadth 2000cm. 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q7. 56 litres 280ml pine apple juice and 78 litres 450ml orange juice were mixed together. Out 

        of this mixture 99 litres 200ml was used. How much of the mixture is left ? 

 

 

 

 

 

 

 

 

 



 

 

Q8. Find area of the following figure by dividing into squares and rectangles  
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Q9. What should be added to 12 litres 500ml to get 29 litres 680ml? 

 

 

 

 

 

 

 

 

Q10. Subtract the sum of 12 litres 500ml and 10 litres 380ml from 48 ml.   

    

 


